
 

MB1211: Three Dimensional Geometry 

Practice Assignment 2A 

 

1. Show that the points (3, 4, 5), (0, −1, 2), (6, 9, 8) are collinear. 

 

2. Find the direction cosines of the sides of the triangle whose vertices are B (−2, −3, 1),   

 C (−4, −4, −1) and D (2, 3, −2). 

 

3. Find the Cartesian equation of the line which passes through the point (−1, 3, −6) and is 

parallel to the line given by 
2 3 7

4 3 5

x y z  
  . 

 

4. The Cartesian equation of a line is 
3 2 4

5 4 6

x y z  
  . Write its vector form. 

 

5. Find the angle between the following pair of lines: 

1 2 5

3 4 1

x y z  
 


 and 

3 2 4

2 7 5

x y z  
 


 

 

6. Find the values of p so the line 
2 8 15 2 4

4 3 3

x y z

p

  
   and 

8 8 2 4 7 2

4 2 6

x y z

p

  
   are at 

right angles. 

 

7. Find the shortest distance between the lines 

   ˆ ˆˆ ˆ ˆ ˆ2r i j k i j k     


 and  ˆ ˆˆ ˆ ˆ ˆ2 2r i j k i j k     


 

 

8. In each of the following cases, determine the direction cosines of the normal to the plane and 
the distance from the origin. 

(a) z = 4 

(b) 2x + 2y + 2z = 5. 

 

9. Find the vector equation of the plane passing through the intersection of the 

planes    ˆ ˆˆ ˆ ˆ ˆ3 2 8, 4 3 2 5r i j k r i j k       
 

 and the point (3, 2, 4). 

 

10. In the following cases, determine whether the given planes are parallel or perpendicular, and 
in case they are neither, find the  angles between them. 

(a) 6x + 4y + 5z + 29 = 0 and 2x – 5y – 8z + 3 = 0 

(b) 3x + 2y + z – 1 = 0 and 2x – 3y + 3 = 0. 


